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SN ALSE D
M = UEA (WSS /Y - 5 E)
SH9l S M A BAlE F (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 610,500
Al 6,005,500
S MAD|BEAl A A H 10,955,000 5,373,200 5,581,800
= 840,000
Xl 3,499,000
& 610,500
Al 6,005,500
I Z=METRH(IHSIEEZR) 800,000 800,000 0
Xl 560,000
= 72,000
Al 168,000
1T AIEHIZ 20| 500,000 500,000 0
Xl 350,000
= 45,000
Al 105,000
01 Al&H| 496,400 496,400 0
OJIHHEEZ SHEH 496,400,000 496,400
Xl 347,480
o= 44 676
Al 104,244
03 A& E2HH| 3,600 3,600 0]
OJIHSHEZE SLE 3,600,000& 3,600
Xl 2,520
& 324
Al 756
403 XX SHS K20 & 300,000 300,000 0
Xl 210,000
= 27,000
Al 63,000
02 2| &S00S =2X 2 EFAS HI 300,000 300,000 0
OJIHEEZ SHEH 300,000,000& 300,000
Xl 210,000
o= 27,000
Al 63,000
D ZME0I TR (MESAEY]) 1,400,000 600,000 800,000
Xl 980,000
& 126,000
Al 294,000
401 Al HI L £ 0HHI 1,400,000 600,000 800,000
N 980,000
= 126,000
Al 294,000
01 Al& B 1,394,960 596,220 798,740
Os=s=Metstd M| 1,394,960,000& 1,394,960
Xl 976,472
& 125,547
Al 292,941




SN ALLED
M = UEA (WSS /Y - 5 E)
SHl S MDA B CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al&E 201 Y| 5,040 3,780 1,260
OsZ=MEstA ™| 5,040,000 5,040
Xl 3,528
< 453
Al 1,059
I ZMEQNTH(ARD S 366,000 0 366,000
N 256,000
= 33,000
Al 77,000
401 Al HI L £ 0HHI 366,000 0 366,000
N 256,000
< 33,000
Al 77,000
01 Al& H| 363, 366 0 363, 366
OALATFHE S44e 363,366,000 363,366
Xl 254,156
< 32,763
Al 76,447
03 AlE 201 | 2,634 0 2,634
OARE S 2,634,000 2,634
Xl 1,844
= 237
Al 553
S22 34| 830,000 480,000 350,000
401 AlEHIZL 2 0HY| 830,000 480,000 350,000
01 Al& H| 830,000 480,000 350,000
o=stl+=2 218 & 200,000,000& 200,000
OMAES 24t F EHx=2&H|
30,000,000 30,000
OMNAEES LZ2RAZ =H SHIS=2EH|
30,000,000 30,000
OAMNAES F222 SHIx== 3 H| 20,000,000 20,000
a0 S H#O02 EtH=2&8Hd|l 50,000,000& 50,000
OXFsSH BtENIS S22 34| 30,000,000& 30,000
OAIE™ HAOIS EHizx==2&Hd| 20,000,000 20,000
o28H X0 sStix=2 34| 30,000,000& 30,000
O=sH BtE0I2 Etix==2 &4l 30,000,000& 30,000
OFsH AMCIOIE SHix=2 34| 30,000,000& 30,000
O2¢H A0S S22 &4d| 25,000,000 25,000
O2¢H MHOIE2 SHix=2 34| 30,000,000& 30,000
O2%H™H 020 Sti+=2 &4l 30,000,000& 30,000
O2%H =302 sStix==2&H4| 30,000,000& 30,000
OMEZH XD0IS 232 S22 34|
20,000,000 20,000
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SN ALSE D
M = UEA (WSS /Y - 5 E)
CHl: S oA AT BHAl & B CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OXtgFH ety 3,000,000& 3,000
OZHUW4HEIY 2% BB 12,000,008 12,000
ONEMBEHOIZY AE2 2223
5,000,000& 5,000
401 Al EHI L 2 0HHI 260,000 310,000 A 50,000
01 Al&H| 260,000 310,000 A 50,000
OsgIIBAIA 212 A 200,000,000& 200,000
Oxd+-ZBZE 29 22 30,000,000 30,000
OMEAZHOIZE AU 30,000,000 30,000
405 XHAHFIEHI 10,000 10,000 0
01 AL 2 ZF S| 10,000 10,000 0
OStoll & 2k~ ¢l 10,000, 000& 10,000
S HI|BLAI A PE2E L XA 400,000 380,000 20,000
403 XX SRS K20| & 400,000 380,000 20,000
02 BI/2SHUSHANHE2EAEAE 400,000 380,000 20,000
OAAR FCAIEFHI (MK 60,000,000 60,000
OALAL2 FClAlE EHH(2UHER)
320,000,000& 320,000
Ot £=2& KA 2 20,000,000 20,000
HOIBEE (208 H4l) 187,500 187,500 0
N 150,000
< 11,200
Al 26,300
401 AlEHIZL £ 0HY| 187,500 187,500 0
Xl 150,000
< 11,200
Al 26,300
01 Al&H| 186, 150 186, 150 0
OCHE X &8t HHIAILY 186, 150,000 186, 150
Xl 148,920
= 11,119
Al 26,111
03 Al 201 Y| 1,350 1,350 0
OCH"E X &8t HUIAIY 1,350,000 1,350
Xl 1,080
& 81
Al 189
AOIEE AIEE2 =48 L FHH| 440,000 330,000 110,000
101 Q124 H] 50,000 30,000 20,000
04 JI2ZtHIZ2 2 NEE 50,000 30,000 20,000
OMa=X &L BXH EHIIES M|
50,000,000 50,000
401 Al HI 2L £ 0HY| 390,000 300,000 90,000




SH ALLEY
B SI|U RN (SRNLAL/ Y - S E)
248 A DI BHAl & o E)
MY . B (3H) - NEAY - BAS ofl &t o SSa HDE2
01 Al&H| 390,000 300,000 90,000
OMz=X AlEZ 100,000, 000& 100,000
OZZM A& 50,000, 000& 50,000
O=sgg & 50,000, 000& 50,000
(ORlEpSa=t 50,000, 000& 50,000
odxz ¢ 100,000, 000& 100,000
(@RI E] = 10,000, 000& 10,000
ool 30,000, 000& 30,000
N & & H| 608,000 463,000 145,000
101 2121 H| 20,000 15,000 5,000
04 J|2tH 2 2 Xt 20,000 15,000 5,000
OMNA Ed A 20,000,000 20,000
201 YEr2 Y| 8,000 8,000 0
01 At 22l ] 8,000 8,000 0
o Xz 8,000,000& 8,000
401 Al HIL 200 580,000 440,000 140,000
01 Al& H| 580,000 440,000 140,000
ONHE KXl &2ltl 100,000, 000& 100,000
O3xoiltidl M& &l 50,000, 000& 50,000
OMNES 2212l HMAEAHU] 30,000, 000& 30,000
OAIdE E&E22 MAE A 30,000,000& 30,000
OFdsSH A& MAAH] 30,000, 000& 30,000
O=SH JIA0IE NAE &I 20,000,000 20,000
O2¢H &Gl MA A 20,000,000& 20,000
O=2%H SO NAEHI 10,000, 000& 10,000
O2%H 2AI0I2 MA A Y] 30,000, 000& 30,000
O28H A0S MAAY] 30,000,000& 30,000
ONZEH AE0I=S MAEEHI 40,000, 000& 40,000
odds ZLOsS MAZEHI 30,000,000& 30,000
OHYs Uz &€ HMEEY 30,000, 000& 30,000
OSFE=S HIDH M&E A 30,000, 000& 30,000
OAIEE P2 AA= M&EEH 30,000, 000& 30,000
OX2YH Q2[0S M A EHI 10,000,000& 10,000
ONIE =2 NAEAEHI 30,000,000 30,000
OFsH MEOI2 NMAEH] 30,000, 000& 30,000
Sl (AZ42 AL Hed) 1,400,000 1,000,000 400,000
Xl 1,120,000
= 84,000
Al 196,000
401 Al HIL 200 1,400,000 1,000,000 400,000
Xl 1,120,000




SN ALLED
M = UEA (WSS /Y - 5 E)
EH2: S HMAD|BEAIA A H| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 84,000
Al 196,000
01 Al&H| 1,390,461 992,800 397,661
O NH4E=X =clAIEHE S 596,220,000& 596,220
Xl 476,976
= 35,774
Al 83,470
O2ASANME=X =2lAIEIE 2 198,560,000 198,560
N 158,848
& 11,914
Al 27,798
OMEZM=X =2lAlE2+ 397,121,000& 397,121
Xl 317,696
= 23,828
Al 55,597
OMB N =clAEIHESE 198,560,000 198,560
N 158,848
& 11,914
Al 27,798
03 AlE 20| 9,539 7,200 2,339
OdY XN+ FC2lAEHNES 3,780,000& 3,780
Xl 3,024
& 226
Al 530
O2ASANE=X =C2AIEINE S 1,440,000 1,440
N 1,152
& 86
Al 202
OMEZBNH=X =2lAIEIE % 2,879,000& 2,879
Xl 2,304
== 172
Al 403
OMB N =clAEIHESE 1,440,000 1,440
N 1,152
= 86
Al 202
StSAE 29 10,000 0 10,000
201 LBt | 10,000 0 10,000
01 AP 22| H| 10,000 0 10,000
O AFR 22| | 5,000,000& 5,000
(OF=1=1s] 5,000,000& 5,000
SAHI|BHEY| (=9 ZD|BHAEHIAIY) 187,500 250,000 A 62,500
Xl 150,000
== 11,300
Al 26,200
401 AlEHIZL 201 Y| 187,500 250,000 A 62,500
Xl 150,000
= 11,300




SM: AEET Y
M = UEA (WSS /Y - 5 E)
SH9l: 59 ADIBHAlE F bl (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 26,200
01 Al&H| 186, 150 248,200 AN 62,050
OY =X =9 2I|BHEH ALY
186, 150, 000 186, 150
N 148,920
& 11,219
Al 26,011
03 AlE 20| 1,350 1,800 AN 450
OE =X+ =2 EIEtEHALS 1,350,000 1,350
Xl 1,080
o 81
Al 189
iz TH L MY 250,000 0 250,000
401 Al HI L 2 0HHI 250,000 0 250,000
01 A& H| 250,000 0 250,000
OANYEH =dE HZE St & 30,000,000 30,000
OAIEH =&0IS &=z &1L
30,000,000 30,000
OAIEH 3l™0IE &z &L
50,000,000 50,000
o28dH SA0ls MXsE &2 WEA
30,000,000 30,000
Os8H 20U & FEZ S H
40,000,000 40,000
OANEZH S80I =2 WEZE
30,000,000 30,000
ONES 4FOIS AXE EF  10,000,0002 10,000
OBES YE-8F2 FHZ W
30,000,000 30,000
SO AlE=2 HE$ 280,000 100,000 180,000
401 Al HI L2 THHI 280,000 100,000 180,000
01 Al& H| 280,000 100,000 180,000
OME=X HES 100,000,000 100,000
OY=XHM MW=L 50,000,000 50,000
oOX29H EZNMLANEHL 20,000,000 20,000
O2YH S0 H=A&E& X 30,000,000& 30,000
OFsH 2H0I=S Hx=MA 50,000,000 50,000
O2%H MAEDN=S & Jgz FHU|
30,000,000 30,000
SEMESHIMNA 270,000 100,000 170,000
401 AlEHIZ 2 0HY| 270,000 100,000 170,000
01 Al&EH| 268,200 100,000 168,200
o2 SIS =XNEXZAH 99,100,000 99,100
OMEH S0 =x&EXH 70,000,000 70,000




SH ALLEY
M = UEA (WSS /Y - 5 E)
CHl: S oA AT BHAl & B CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONMEH MAQOE =XUEXEH 99, 100,000& 99,100
03 Al S HHI 1,800 0 1,800
O=2YH st =XUHEXH 900,000& 900
ONMEH MAOE =XUEXEH 900,000& 900
THoH 21 & M==Xl ZHl 1,180,000 0 1,180,000
= 590,000
= 177,000
Al 413,000
401 Al HIZ 2018 1,180,000 0 1,180,000
= 590,000
< 177,000
Al 413,000
01 A& HI 1,172,007 0 1,172,007
O&E=Z MollIg =Xl HHl 675,715,000& 675,715
= 337,858
< 101,357
Al 236,500
Oz== Mol M=X FHHl 436,832,000 436,832
= 218,416
< 65,525
Al 152,891
O0l= MolASE M=X &l 59,460,000 59,460
= 29,730
< 8,919
Al 20,811
03 Al =20 HI 7,993 0 7,993
OWHE= Mol M=Kl ZHl 4,285,000& 4,285
= 2,142
< 643
Al 1,500
Oz== MolASEM=X &l 3,168,000 3,168
= 1,584
< 475
Al 1,109
©0l= Mol M=Xl HHl 540,000& 540
= 270
< 81
Al 189
Ag2el2d =z HE = 500,000 0 500,000
= 250,000
< 75,000
Al 175,000
401 Al HIZ 201 8] 500,000 0 500,000
= 250,000
< 75,000
Al 175,000
01 A& HI 496,400 0 496,400




SN ALSE D
M = UEA (WSS /Y - 5 E)
=98 A DI BEAI & | (B9 ®R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O&XZEIEAM HES 496,400,000 496,400
= 248,200
= 74,460
Al 173,740
03 AlEE2HH]| 3,600 0 3,600
O&ZEEIEAM HE 3,600,000& 3,600
= 1,800
& 540
Al 1,260
FSHHl 2= (XHA) 850,000 0 850,000
401 AIEHI 2 201 Y| 850,000 0 850,000
01 Al&H| 843,880 0 843,880
OME=X S==HEA 2=2ZH) 347,480,000 347,480
OM=X EF=EZA ) 347,480,000& 347,480
OS2 A 148,920,000 148,920
03 AlIE 21| 6,120 0 6,120
OMz=X EF=HEZA Z=A) 2,520,000 2,520
OM=z=X SL=2A ) 2,520,000& 2,520
ESL2UA20 & 1,080,000 1,080
ARSD BHSIHE(EXR) 354,000 0 354,000
Xl 283,000
= 21,000
Al 50,000
401 Al HI L 2 0HHI 354,000 0 354,000
N 283,000
& 21,000
Al 50,000
01 Al& H| 351,460 0 351,460
OMES ZEXNFT A2 HIz=HL
351,460,000 351,460
N 280,968
o 20,848
Al 49,644
03 Al 201 Y| 2,540 0 2,540
OMES ZHEXNF A2 HIz=HL
2,540,000& 2,540
Xl 2,032
o= 152
Al 356
A HU(Z2ELXIGHE /=TS 11,306,213 9,820,043 1,486,170
= 1,954,000
N 2,500,000
= 1,200,000
Al 5,652,213
U ASHE Z I 11,306,213 9,820,043 1,486,170
= 1,954,000




SH ALLEY
B oid HU(2EWX ML /2 T)
& StEYATHE EH (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 2,500,000
< 1,200,000
Al 5,652,213
2ot ZHI 3,908,000 2,714,000 1,194,000
- 1,954,000
Al 1,954,000
401 Al& I 28I 3,908,000 2,714,000 1,194,000
= 1,954,000
Al 1,954,000
01 A& HI 3,889,527 2,696,548 1,192,979
OStEATHE FHIAY 502,813,000& 502,813
- 251,407
Al 251,406
O=2=240td HUIALLY 645,905,000 645,905
= 302,952
Al 322,953
O=ZstAdtd FHIAY 896,317,000& 896,317
= 448,159
Al 448,158
O=s&Aotd HUIALLY 1,524,492,000& 1,524,492
- 762,246
Al 762,246
OUWRAGHE EUIALY 320,000, 000& 320,000
= 160,000
Al 160,000
03 Al =2 THHI 18,473 17,452 1,021
OsEA0tdE HUIALLY 3,187,000 3,187
- 1,593
Al 1,594
O=S3A40td FHIAY 4,095,000 4,095
= 2,048
Al 2,047
O=3tAotd HUIALY 5,683,000 5,683
= 2,841
Al 2,842
O=&A0HE FHIAY 5,508,000& 5,508
= 2,754
Al 2,754
ot& KXl 22 200,000 200,000 0
< 100,000
Al 100,000
401 Al B2 28I 200,000 200,000 0
< 100,000
Al 100,000
01 A& HI 200,000 200,000 0
(©)e] FSR=WNIE Nl N Js! 200,000,000 200,000
< 100,000
Al 100,000




2N
X ZH -
L= B

el

AL 2T
SHE HU(IELT SN L/ETE)
RPN

A - ER(EN) - AR - B of & o4 SSa HIDZ2
ot & 22l 558,500 288,500 270,000
201 £et23E | 58,500 38,500 20,000
01 At 22l bl 51,000 31,000 20,000
Oget+=ZH| 4,000,000& 4,000
O1EtM 1otd AHE2e =& 23|
5,000, 000& 5,000
©F= gl 2,000,000& 2,000
ogxtz 40,000, 000& 40,000
02 3224l 5,500 5,500 0
0532 £ MA 1,500,000& 1,500
OXt& & gyl 4,000,000& 4,000
03 &A= S HI 2,000 2,000 0
Q1M 1otd At 2 AL 2]
2,000,000& 2,000
401 AIEHI L 2CHYI 500,000 250,000 250,000
01 Al £ HI 500,000 250,000 250,000
Ox5td |A 22 (IS HHl) 150,000,000 150,000
OJId M &l 150,000,000& 150,000
OotE =& At Y 150,000,000& 150,000
OAotd DIXNEESA 2&= 50,000,000& 50,000
2eot e KX 2el 160,000 180,000 220,000
401 AIEHIZ 2 HHI 160,000 180,000 220,000
01 A€ dl 160,000 180,000 20,000
oZ=d MY FHISA 30,000,000 30,000
O™ otef FHHISA 30,000,000 30,000
OMZA M2 ZHHISA 20,000,000& 20,000
osgd MM MY ZEZA 30,000,000 30,000
O&XH otet FHISA 20,000,000 20,000
OSZA(4L~-ZE0I2) FHI 30,000,000 30,000
Aot&F X2 225,000 95,000 130,000
201 fEt2E | 20,000 0 20,000
01 AtR 2t 2l | 20,000 0 20,000
O4otddH A& 20,000,000 20,000
401 AIEHIZ 2 CHYI 205,000 95,000 110,000
01 A€l 205,000 95,000 110,000
OX=20td EHHISA 30,000,000& 30,000
Ox=Actd(ZFH22l) HIS A 30,000,000& 30,000
OR2F Aot (M E0t2) FHIZA
50,000,000 50,000
O&l&tATHA HHISA 20,000,000 20,000




2N
X ZH -
L= B

el

AL 2T
SHE HU(IELT SN L/ETE)
RPN

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OA K ACHAE AH|Z2A 30,000,000 30,000
OPAAGHE Bla HHIZA 20,000,000 20,000
O=23A0tA (230l FXHUER &¥€) HH|
25,000,000 25,000
ofd EHAH AIY 50,000 34,159 15,841
101 e1214| 50,000 34,159 15,841
04 J|12ZtHIZ22NEES 50,000 34,159 15,841
Ootd 2 HHH ALY 50,000
oolEQl 50,000,000 50,000
MEISIE S AAIE 5,000,000 4,378,000 622,000
N 2,500,000
= 600,000
Al 1,900,000
401 Al HI L £ 0HHI 5,000,000 4,378,000 622,000
N 2,500,000
& 600,000
Al 1,900,000
01 Al& H| 4,986,500 4,366, 180 620,320
OAMIAE MEHGIE 2IAS
4,986,500,000& 4,986,500
N 2,493,250
o 598,380
Al 1,894,870
03 Al 201 Y| 13,500 11,820 1,680
OAMIAE MEHGIE E2RAAS 13,500,000 13,500
N 6,750
& 1,620
Al 5,130
HUAHFTHI G XA 204,713 206,274 AN 1,561
401 AlEHIZL 2 0HY| 204,713 206,274 AN 1,561
01 Al&H| 204,713 206,274 AN 1,561
OHUHFHI A XA 204,713,000 204,713
QUBHGIE M HI ALY 1,000,000 1,600,000 A 600,000
& 500,000
Al 500,000
401 AlEHIZL 2 0HY| 1,000,000 1,600,000 A 600,000
& 500,000
Al 500,000
01 Al&EH| 993,700 1,589,920 A 596,220
OREAM(FHIR) LLtstA AU A
993,700,000& 993,700
& 496,850
Al 496,850
03 Al 20| 6,300 10,080 A 3,780




SN AELED
B 5td HU(2EUXGNL/SX2)
& StEYATHE EH (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OTFEAE(FHEXF) Lot FHIAY
6,300,000 6,300
= 3,150
Al 3,150
MR 2 = (BFES/Mot+E - =2) 502,610 392,045 110,565
X 220,000
Al 282,610
He = =22 502,610 392,045 110,565
Xl 220,000
Al 282,610
Ot &=T Al 2tel 170,000 160,000 10,000
201 Let24dH] 25,000 25,000 0
01 At 22/l 13,000 13,000 0
oOntsadsE =Z2IA =2 13,000, 000& 13,000
02 =224l 12,000 12,000 0
O=/AEXEI RANES 4,500,000 4,500
O+ZI2HEHIAE RAES 4,500,000& 4,500
OgAELI WA 3,000,000& 3,000
206 = Hl 15,000 15,000 0
01 MHZ 4l 15,000 15,000 0
onsads A=524E 2 3,000,000& 3,000
ontsd=: A5) EH P2Y 9,000,000& 9,000
onsad=ZAd =8z £ 3,000,000 3,000
401 AIEHI L 2CHEI 130,000 120,000 10,000
01 A& Bl 130,000 120,000 10,000
Ol A4 28> 100,000, 000& 100,000
Obt=d=E Xot=ES& XAl & AtZ=2t2]
30,000,000& 30,000
I =MEoIIH(sEMEESIY) 200,000 100,000 100,000
X 140,000
Al 60,000
401 Al HIZ 201 Y| 200,000 100,000 100,000
Xl 140,000
Al 60,000
01 A& HI 198,560 99,100 99,460
OsE=Y MBS NUAY (X, BE)
198,560, 000& 198,560
Xl 138,992
Al 59,568
03 Al S THHI 1,440 900 540
OsZE= MBS NUAY (X, BE)
1,440,000 1,440
Xl 1,008
Al 432
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Fags|
H: JHRE 2 ZS(BLFES/4ot=E - =F)
Sl o 2 SR (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2B S35 AE HEASXA 114,300 114,286 14
X 80,000
Al 34,300
401 Al HI K 201 I 114,300 114,286 14
X 80,000
Al 34,300
01 A& Bl 114,300 113,266 1,034
OALTI2aT AME NESAY 114,300, 000& 114,300
Xl 80,000
Al 34,300
9= 2 =22 7,310 6,759 551
101 @124 dl 2,000 1,449 551
04 DIt Z2XEES 2,000 1,449 551
OA=H=8 3l 2,000,000 2,000
201 Let24d] 2,310 2,310 0
01 At 22l 2,310 2,310 0
OAx=H =ZHHBA =2 810,000& 810
O=s &2 5 S #+2 1,000,000& 1,000
ocl=g M= 500,000& 500
202 O4dl 1,000 1,000 0
01 = LH 4 Hi 1,000 1,000 0
O=A=Z NI 1,000, 000& 1,000
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
O=Z3AE8 M=8 2 1,000,000 1,000
ONFREALZEF ANAFPY 1,000, 000& 1,000
HE=s SsAE =2A 11,000 11,000 0
201 ¢4l 1,000 1,000 0
02 =224l 1,000 1,000 0
OA=H ANERANE=> 1,000, 000& 1,000
401 Al BIZ 201 8] 10,000 10,000 0
01 A& HI 10,000 10,000 0
O%Y=g ISAE(d=H) =ZFHEAMY
10,000, 000& 10,000
WREes(std2s/4dota% - &) 2,300,000 1,500,000 800,000
WEHHX = 2,300,000 1,500,000 800,000
S EEINH dES 2,300,000 1,500,000 800,000
701 JIEtSI HSHES 2,300,000 1,500,000 800,000
03 BIILELEINHMENES 2,300,000 1,500,000 800,000
OM=EEE3NH AN=dE2 2,300,000,000& 2,300,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HE2A A (AL =0 (IIEH/IIE) 90,840 50,520 40,320
Jl=&l 90,840 50,520 40,320
Jl=34 90,840 50,520 40,320
201 Let24d] 6,000 6,000 0
01 At 2teltl 6,000 6,000 0
O R-Iget=:] 5,000,000& 5,000
O =&l 1,000, 000& 1,000
202 oddl 80,640 40,320 40,320
01 SLHOIYI 80,640 40,320 40,320
O2LEF I 280,000& x24H x12& 80,640
203 ¥ S =&l 4,200 4,200 0
04 RENSELR=LH 4,200 4,200 0
OFRN2IYRZ=AHI 350,000& »12& 4,200




